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lim
x#»0

1− cos 3x
tan2 x

(20 学習院大 理 1(2))

【答】 9
2

【解答】
0
0
の不定形を解消するように，式を変形する．

lim
x#»0

1− cos 3x
tan2 x

= lim
x#»0

(
cos2 x
sin2 x

· 2 sin2 3x
2

)

= lim
x#»0

cos2 x · 1(
sinx
x

)2 ·
2 sin2 3x

2
x2


= lim

x#»0

cos2 x · 1(
sinx
x

)2 ·

 sin 3x
2

3x
2

2

· 32

2


= 9

2
……（答）

である．

• 次のように変形してもよい．

lim
x#»0

1− cos 3x
tan2 x

= lim
x#»0

(
cos2 x
sin2 x

· (1− cos 3x)(1 + cos 3x)

1 + cos 3x

)

= lim
x#»0

 cos2 x
1 + cos 3x

·
(

1
sinx
x

)2

· sin2 3x
x2


= lim

x#»0

 cos2 x
1 + cos 3x

·
(

1
sinx
x

)2

·
(
sin 3x
3x

)2

· 32


= 1
1 + 1

·
(
1
1

)2

· 12 · 9

= 9
2

である．


